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gEnaG Qs TESEnEE AL S, GBILd: Cpeigy LoMGSILITEVEIS 61
Qongs allamgseafiaor ssimians 7, BTSN YDSIE S Berisar

I deteumw snpmibse 2 emtepown oiedevg GUITLILIT sibamis. Uampwrules oimmear Hmss
e1pdI®. (State whether the following Statements are True or False. If false, correct it.)

i.

il

iii.

iv.

Vi.

Vii.

viii.

ix.

o0 Guuilmenr efufisdan em uey wrHf ysialalumd erer SIMWP&HBLILGBLD.
(A characteristic that describes a population is called a sample statistic.)
d@iorer  yeteilslugeiusd eaiug @m OCETeL  SeusTETEGmeT PUPBIBEMLOLILGM (LD
H(HSHSIOTE SaMIUSNEGD OHOILD LWSTL(BSSHIUSDGIOTE @b CEFuI(PaDUITELD.
(Inferential Statistics are procedures used to summarize, organize and make sense of a set of
observations.)
ueIYFEWTST HIeyseT QFHTLTFAWTATEHULTS Bmss (Pujw.
(Qualitative data can be continuous )
@@ unbuelar @@L aaiugs en Hemed (Tfloms) SISTEMUIT(GH LD
(Mean of a distribution is a measure of dispersion.)
@O ugueilar @enL, @enLwid WHMID SLBTILD WpeopBw 5, 6, 7 & @miniar
UJWOLGTEIS| LDEDD @ITUILDT(SLD.
(If the mean, median and mode of a distribution are 5, 6, and 7 respectively then the distribution
is negatively skewed).
Ourgieurs  @m ffw puw alossd GHss  BHus SieneiBsst  wrPOHRDDISE
dllyusre Qargsrs ugpbll sramliLGn
(Generally, a smaller standard deviation implies that the measurements are clustered closed to
the Variance).
gareug Gasieuem uFbusd 0 (YFFW) GevLenpwud 1 wpluioeilevs ensoujtb
G remigh&HGTma).
(Any normal distribution has a mean of 0 and a standard deviation of 1 J)
4,4 aauen @ Bl Hewsdsams @milear P(4)+P(A4") =0 o51b.
(If A and A' are complementary events, then P(A) + P(A! ) = 0).
B® Papsdlser sryraaans @i P(ANB)=P(A)P(B).
(If two events are not independent then P (A NB) =P (A) P (B)).
@@ yesilalugd Seis GUT@HEaTD UL S0 Qurpepstensts @mUlar g 1 e
QurEmsmtento L LSHaid GUTHEHsiTaTHTS Bm&BGLD.
(If a statistic is significant at the 5 % level, then it must be significant at the 1 % level also.)
( 20 marks)




2 L

iii.

iv.

SrUULL Guoiod) @ UsTefNaluFion SIe060E @ UJIOTEIDT 6ISILSENET
giwrefssab (Determine whether the given value is a statistic or a parameter).
(02 marks)
a. @omemsuis FHGUTEWL UTIEHLIDPL 52 SLETISMETULD 2 @ueritsemeTULLD
Qe (h b ESIDE).
(The current cabinet of Sri Lanka consists of 52 men and 2 women).
b. wrenaTsmmMEQETamL @n LIHH Gzfley GeUWINLL LS. Sisuisalar e
Al 15 auHLmISTGLD.
(A sample of students is selected, and the mean age is 15 years).

SIouL Qupuoglsst daiaie oiseg QETLTES sras OsrenLuledmia
BSBUULLMOUIT eTRTLGMET SiTomellehEs.

(Determine whether the given values are from a discrete or a continuous data

set.) (02marks)

a. @@ yaisllalugelwed wremeus wIHN syeysEamen Guby wrEfulesieon Gl Lmi
auemigsefenr sgnafl Mlenm 1418 kg. eten smemdepmi. (A statistical student obtains
sample data and finds that the mean weight of cars in the sample is 1418 kilograms).

b. 1059 auwsTaTITHEMmETSEOBTRIL Qb pule] SieTailiged 39 alsTGarm ailiged
DG SHHIHIBETDETIT.
(In a survey of 1059 adults it is found that 39% of them take alcohol at home).

BIEIG 6und TS L Sieneneuselled a8 Lsiaumaisteupiing s
GuTmssIOTEIF cIGTLGmaT FiTiomellEs.
(Determine which of the four measurement of scale is most appropriate for the
following).

(02 marks)
2. ULBMOGHDESENITT @b Spewt 2 Lpuulpsd) Gum wwirenflar o wirbd

(Height of a male athlete in the university).

b. eugldeueten sHBuTsW Geutiugleney (Current temperature in the classroom).

opemiseflal 2wy oetaip 6 (SIBIGSHD) SIIUGHDE.
(Given below is the measurement of male heights (inches).



ii.

iii.

Male Heights (inches)
66 71
68 71
69 72
71 69
73 71
67 70
68 72
65 69
72 70
68 70

samns@s.  (Calculate )

a. @emL (mean) (05 marks)
b. wrpmimer (variance ) (05 marks)
C. pluiw eflevssd (standard deviation) . ( 04 Marks)

Glpeold QT eaiucDmIGSmLuTevrer Geumumt igener FHHHINE CoumuBEIs.
(Briefly distinguish between skewness and kurtosis). ( 04 Marks)

9@ uTbLeTeg 50 @entulmanyp 12 Bluisilsosameviib Gl remngmaéSl@img).
Gupulg urbued GFsiauear 66T SHERTTED 618566 QIBIONET DIUBTAIMIBET 26 SHEGLD
74 &@ @enLuled G maéELD.
(A distribution has a mean of 50 and a standard deviation of 12. If we assume the abo
distribution is normal what percent of the observations will be between 26 and 747

(06 Marks)

deroumd @B oo simbs Qupodsst: @ Quuorsnd (7), (PSH6OTEUD)
srevenswt (14), @rewiLmbd smevenemr (19), epaimid Srevenswr (26), LoMMILD
2_wie] GQumuodl (91) seuspann LWSTUGSS

(Using the following 5 number summary of minimum ( 7 ), first quartile ( 14),
second quartile ( 19 ), third quartile (26 ) and the maximum ( 91 ) values

a. Quiy euemguLgdemer eusngs. (Draw the Box-Plot ) (7 marks)
b. umbued FwEFFTEIHT DOV @umuoreist? ellend@s.
(Is it skewed or a symmetric distribution? Explain) (3 marks)



ii.

iii.

ii.

X, Y aiqiiuen gpsiypBs@h Bepsdss 2p6w. P(X)=0.30, P(Y) =020 o
Bouiar X oo Y Mspeushsrer B&pssa| wirg?

(The events X and Y are mutually exclusive. Suppose P(X) =0.30 and P(Y) =0.20)

What is the probability that either X or Y occurring? ) (04 marks)

P (A)=0.4,P (BJA)=0.30. snsmmas. A @agid B @engid sl Hlapsse) wrg?
(Suppose P (A) =0.4 and P (BJA) = 0.30). What is the joint probability of A and B? )
(04 marks)
@ suaiuisd 600 smpPlwiiser o_eiemeni. g6y elugmiset &6 Syl Geierer.
( There are 600 employees in a University. See the following breakdown. )

Gender No Univers University Total
Education Education
Male 25 225 250
Female 75 275 350
Total 100 500 600
@G emfluir aqpwrprs Gzfley GewliuGdamri (An employee is selected at
random).
a. Gueyeiien GmiTey DI LeueHENSETET el (h Papsse DI Lealmnaenw Ouyys.
(Derive the probability table for the above contingency table. (04 marks)

b. Ozfley QeunmucL emflunr QuesiamTs Boluugnsna Bapsse wWNg?
(What is the probability the employee is female? (04 marks)

C. @b emfluir Quemt s @mile oieuir LI6VE 60 608 B0 & 555160

UeSAGUUSDET Bepssa) wirg?
(What is the probability the employee attends college given a female employee?)
( 04 marks)

opWlenL. wHluresEd Lsief wHILT@IGGD @emLulsorenr GaumurQ winrg?
(What is the difference between a point estimator and interval estimator? ) (8 Marks)

0 GUSs urTLaTemeoullsd o eiten  toTemeuTHeRe WWHNBS  YeiTeRsefet
@oLasten 99% plsms ouuisL e BID e oY BGTCDITLD 616018 (5.
QBB oTeIeuTHsT WTHfTes sBHSILL LT Dieuisail (WPUS6NHS Lsieflamen 560,
500, 470, 660, 640 9@ Lb.

(Suppose we are interested in finding a 99% confidence interval for the mean overall
score of students at a certain school. Five students are sampled, and their overall scores

are 560, 500, 470, 660, and 640).

a. wrdlfl GeLssrean B ey wirg

(What is the margin of error of the sample mean? (02 Marks)
b. Gergemen yeielselar @l ssrar 99% BOUSmE  apulenLenwi
SITEI5.

(Find a 99% confidence interval for the mean test score. (10 Marks)



ii.

auens I e asiusn@w suems I aip sIHUSMHGLD @enLuleoren Geumur® wmg ?
What is the difference between a Type I Error and Type II Error? (6 Marks)

GNBHS @ BTlged sgrafl surpaydsreon 71.8 GUIHLIBIBET 61601 SL[HE aU(HL S0
100 vHwiulL @piyssst Geravii erpomdml wrdlfl srigus.  GQuisrg)
Bluwelevssd 8.9 aumHLEIssT aehshESCSTEIB @amw syrsfl aumpabaTeon 70
QUL EIBEMID DFBIONS QHBEMST sTaTLISMET Cargamear GFuis. QuUTHEHsTEmLD
wrLp 0.05 g uwaTUBSES.

(A random sample of 100 recorded deaths in the country during the past year showed an
average life span of 71.8 years. Assuming a population standard deviation of 8.9 years
does this, seems to indicate that the mean life span today is greater than 70 years? Use a

0.05 level of significance. ) (14 Marks)

7. Qeiumeisneudmise Ami@miy eapais.  (Write short notes for the following)

1.
ii.

ii.
iv.

) 6 6TITLYED (3 T B LD (Correlation coefficient)
Ul ereoenevs6smmd  (Central Limit theorem )
wrFfewGOy uybued  (Sampling distribution)
Qxrgs wrAAGwEy  (Cluster sampling)
( 5 marks each)



